T XKEMILICET HEFAR(RIER O RRER)

Rk BER.MER

BARZDER 2 (E&IHh D BR 3B

& B & B 301BN5001

& AT % BAEEREA

AT £ ih EFARECHIRRERES
O : B8 [ 38 4 B D) £ AR

onmts )

_...JQnu

AT

\‘..,.___.-'

BORR(S=1.200000) R BR(S=125.000

= 1 tth EBf5E 0D EE F 1th H2 12000007 F4 H . B¥ [ B U'E Fib R 25000 A . BEIZ=1EE BFE



SEMORERREHE
BRX3—1 BAEOBThOHLLMH. BELLVEEOEZTLOHLHOBRER _ T 20244 /%
28 & oD & BEFES | 50/BNo00r | ERTE Vo ZE FRA | FRTEMh A T BT A L 7

e 1111
N 1 |

IR

m Lim
A TiF

BEDEZThDOHL L DRI
[ ELLVEEDEZThDH B LD RE

HERTRR

TRZEDIBEI-LDHH100kN/ MEFEBZ S EH

[ 1EF0HBESAmEEALHHE

=5F

|

7z~



SER O FRIRXIFERE
HR3—2 EEMITEATALEESNDHEICET HEE/1) REEE | 20214 )%
[ EEFOEOLE | Emas 3015N5001 B | Tzl | Ml | T Gz Els
SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 7.08 89.86 [ ZhLis | 000 ~ 7.08| 1.78 9.54 Thns 1.00 ] 500 ~ 8.88 89.86 | ZhLis | 500 ~ 888 | 1.78 9.54
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 537 66.97 | Zh s | 000 ~ 537 | 2.04 10.92 Fhst 100 | 500 ~ 6.94 66.97 | #hust | 500 ~ 6.94 | 2.04 10.92
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 6.48 8158 | #h st | 000 ~ 648 1.79 957 Fhst 100 | 500 ~ 7.70 8158 | #hkist | 500 ~ 7.70| 1.79 957
4 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ - — —
Zh st 1.00 | 000 ~ 654 8238 | #h st | 000 ~ 0.00( 159 8.52 Fhst 100 | 500 ~ 845 8238 | #hiist | 500 ~ 845| 159 8.52
5 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 5.75 7192 [ Zhst | 000 ~ 0.00 | 1.64 8.77 Thst 100 | 500 ~ 6.60 7192 | #hst | 500 ~ 6.60 | 1.64 8.77
6 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 6.40 8055 | #h st | 000 ~ 0.00 | 1.61 8.62 Zhst 100 | 500 ~ 800 8055 | #hkist | 500 ~ 8.00 | 1.61 8.62
; 100kN/mM#E#B %% - -~ - —|3m&#EZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zzh st 1.00| 000 ~ 7.13 9054 | #h s | 000 ~ 7.13 | 1.80 9.61 Fhst 100 | 500 ~ 9.00 9054 | Z#hiist | 500 ~ 9.00 | 1.80 9.61
g 100kN/M%EH#B % % — -~ — —|3m%EHEZD -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 6.51 8206 | #h s | 000 ~ 651 1.73 9.24 Fhst 100 | 500 ~ 7.75 8206 | #hkst | 500 ~ 7.75| 1.73 9.24
9 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZ#B %% — -~ - —|3m%EHEBZ3 -~ - — —
Zhst 1.00 | 000 ~ 753 96.33 | #h s | 000 ~ 753 | 1.94 10.41 Fhst 100 | 500 ~ 1146 96.33 | Zh st | 500 ~ 11.46 | 1.94 10.41
10 100kN/mM#Z#BZ % — -~ - —|3m%EBZ D -~ — - —| 100kN/mM%Z#BZ % — -~ — —|3m&#ER5 -~ — — —
zhns 1.00| 000 ~ 7.37 9394 [ Zhus | 000 ~ 7.37| 1.81 9.69 zhnst 1.00] 5.00 ~ 9.56 93.94 | ZhLis | 500 ~ 956 | 1.81 9.69
» 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
zh st 1.00| 000 ~ 7.15 9089 [ Zh s | 000 ~ 7.15| 1.83 9.82 zhns 1.00] 500 ~ 9.15 90.89 | Zh s | 500 ~ 9.15( 1.83 9.82
12 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#BZ B - ~ — — —
zhnLs 1.00| 000 ~ 4.78 5951 [ ZhLis | 000 ~ 478 1.72 9.23 Thst 1.00] 5.00 ~ 5.00 5951 | Zhiis | 500 ~ 500 ( 1.72 9.23
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhs ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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